Name ________________________________________ Date ________ Block ________

Making A Model of the Arm
The average adult human skeleton has 206 bones. Bones provide shape and support, allow movement, protect both tissues and organs, store materials and produce new blood cells. Bones are a type of connective tissue that need the help of two other tissues in order to function properly; ligaments and tendons. Ligaments hold bone to bone and tendons hold bone to muscle. 
Muscles give the skeleton the ability to move. All muscles must work in pairs for a muscle has the ability to contract only. So when one muscle in the pair contracts, the other muscle must be relaxed. For the skeleton to make the opposite movement the muscle that just contracted must relax and relaxed muscle must contract.
Materials

· Arm pieces handout

· Styrofoam tray

· Scissors
· A pen
· Two cut rubber bands

· A paper fastener
· A hot glue gun.

Procedure

1. On the Styrofoam tray, trace the lines of the provided diagram of the arm. 

· Make sure all letters, circles and dots are marked on your tray.
· Cut out both pieces of the arm.

[image: image1.emf]
2. Place piece A over piece B 
· [image: image2.emf]fasten together with the paper fastener. (Fig. 2)

3. [image: image3.emf]Staple one end of both rubber bands to the indicated points on the lower arm (F and D) and the other end of the rubber bands to the indicated points on the upper arm (G and E).  (Fig. 3)

Analysis
1.  How many bones does the average adult human skeleton have? ________________

2.  What are the 5 functions of bones?

· ____________________________________________________________

· ____________________________________________________________

· ____________________________________________________________

· ____________________________________________________________

· ____________________________________________________________

_____  3.  What do the rubber bands in this activity represent? 


a.  ligaments


b.  tendons


c.  muscles
d.  bones

_____  4.  What does the paper fastener at G, E, D and F represent? 
a.  muscles

b.  ligaments
c.  tendons

d.  bones

_____  5.  What kind of joint would you find at the location where the arm pieces attach? 


a.  ball & socket


b.  hinge


c.  immovable


d.  gliding

6.  What is the job of a muscle? _____________________________________________
· What do muscles have the ability to ONLY do? ___________________________

· Therefore it must always work in: ______________________________________

_____  7.  When you pull on the rubber band at points G and F, what happened? 


a.  The arm bent up.

b.  The arm straightened out.

c.  The arm broke

_____  8.  What muscular action is this representing? 


a.  contraction


b.  relaxation


c.  a cramp

_____  9.  When you pull on the rubber band at points D and E, what happened? 

a.  The arm bent up.


b.  The arm straightened out.


c.  The arm broke.

_____  10.  What did the first rubber band (G and F) need to do in order for the second 
                   rubber band (D and E) to work? 

a.  relax

b. contract

c. broke

